

## APPROXIMATION OF SOLUTIONS OF THE INHOMOGENEOUS GAUSS DIFFERENTIAL EQUATIONS BY HYPERGEOMETRIC FUNCTION

S. OSTADBASHI, M. SOLEIMANINIA, R. JAHANARA AND CHOONKIL PARK\*

ABSTRACT. In this paper, we solve the inhomogeneous Gauss differential equation and apply this result to estimate the error bound occurring when an analytic function is approximated by an appropriate hypergeometric function.

### 1. INTRODUCTION

More than a half century ago, Ulam [22] posed the famous Ulam stability problem which was partially solved by Hyers [7] in the framework of Banach spaces. The Hyers' theorem was generalized by Aoki [4] for additive mappings. In 1978, Rassias [14] extended the theorem of Hyers by considering the unbounded Cauchy difference inequality

$$\|f(x + y) - f(x) - f(y)\| \leq \varepsilon(\|x\|^p + \|y\|^p), \quad (\varepsilon \geq 0, p \in [0, 1)).$$

Since then, the stability problems of various functional equations have been studied by many authors (see [1, 6, 8, 9, 13, 15, 17, 18, 19, 20]).

Alsina and Ger [3] were the first authors who investigated the Hyers-Ulam stability of differential equations. They proved that if a differentiable function  $f : I \rightarrow \mathbb{R}$  is a solution of the differential inequality  $|y'(t) - y(t)| \leq \epsilon$ , where  $I$  is an open subinterval of  $\mathbb{R}$ , then there exists a solution  $f_0 : I \rightarrow \mathbb{R}$  of the differential equation  $y'(t) = y(t)$  such that  $|f(t) - f_0(t)| \leq 3\epsilon$  for any  $t \in I$ . From then on, many research papers about the Hyers-Ulam stability of differential equations have appeared in the literature, see [2, 5, 10, 11, 12, 21, 23] for instance.

The form of the homogeneous Gauss differential equation has the form

$$x(1 - x)y'' + [r - (1 + s + t)x]y' - sty = 0. \tag{1.1}$$

It is easy to see that

$$y_1 = 1 + \frac{st}{1!r}x + \frac{(st)(s+1)(t+1)}{2!r(r+1)}x^2 + \frac{(st)(s+1)(s+2)(t+1)(t+2)}{3!r(r+1)(r+2)}x^5 + \dots$$

---

2010 *Mathematics Subject Classification.* Primary 39B82, 35B35.

*Key words and phrases.* Gauss differential equation; analytic function; hypergeometric function; approximation.

\*Corresponding author: Choonkil Park (email: baak@hanyang.ac.kr, fax: +82-2-2281-0019).

and

$$y_2 = x^{1-r} \left[ 1 + \frac{(s-r+1)(t-r+1)}{1!(2-r)}x + \frac{(s-r+1)(s-r+2)(t-r+1)(t-r+2)}{2!(2-r)(3-r)}x^2 + \frac{(s-r+1)(s-r+2)(s-r+3)(t-r+1)(t-r+2)(t-r+3)}{3!(2-r)(3-r)(4-r)}x^3 + \dots \right]$$

are a fundamental set of solutions of equation (1.1) (if  $r \neq 1$ ). The series  $y_1$  known the hypergeometric function is convergent for  $|x| < 1$  and is represented by

$$y_1 = F(s, t, r, x).$$

Note that

$$y_2 = x^{1-r} F(s-r+1, t-r+1, 2-r, x)$$

is of the same type. Thus the general solution is

$$y_c = c_1 y_1 + c_2 y_2 = c_1 F(s, t, r, x) + c_2 x^{1-r} F(s-r+1, t-r+1, 2-r, x).$$

## 2. INHOMOGENEOUS GAUSS DIFFERENTIAL EQUATION

In this section, we consider the solution of inhomogeneous Gauss differential equation of the form

$$x(1-x)y'' + [r - (1+s+t)x]y' - sty = \sum_{m=0}^{+\infty} a_m x^m, \tag{2.1}$$

where the coefficients  $a_n$ 's of the power series are given such that the radius of convergence is positive.

**Theorem 2.1.** *Assume that the radius of convergence of the power series  $\sum_{m=0}^{+\infty} a_m x^m$  is  $R_0 > 0$  and*

$$R_1 = \lim_{k \rightarrow \infty} \left| \frac{c_k}{c_{k+1}} \right| > 0. \tag{2.2}$$

*Let  $\rho$  be a positive number defined by  $\rho = \min\{1, R_0, R_1\}$ . Then every solution  $y : (-\rho, \rho) \rightarrow \mathbb{C}$  of differential equation (2.1) can be expressed by*

$$y(x) = y_c(x) + \sum_{m=1}^{+\infty} c_m x^m, \tag{2.3}$$

where  $c_1 = \frac{1}{r} a_0$  and

$$c_m = \frac{a_{m-1}}{m(m-1+r)} + \frac{1}{m!} \sum_{i=1}^{m-1} a_{m-i-1} \prod_{j=1}^{i+1} \frac{1}{m-j+r} \prod_{j=1}^i (m+s-j)(m+t-j) \tag{2.4}$$

for any  $m \in \{2, 3, \dots\}$ .

*Proof.* We will show that each function  $y : (-\rho, \rho) \rightarrow \mathbb{C}$  defined by (2.3) is a solution of the inhomogeneous Gauss differential equation (2.1), where  $y_c$  is a solution of homogeneous Gauss differential equation (1.1). For this purpose, it is only necessary to show that  $y_p(x) = \sum_{m=1}^{\infty} c_m x^m$  satisfies differential equation (2.1). Therefore, letting  $y_p(x) = \sum_{m=1}^{\infty} c_m x^m$  in differential equation (2.1), we obtain

$$\begin{aligned} \sum_{m=1}^{+\infty} m(m+1)c_{m+1}x^m + r \sum_{m=0}^{+\infty} (m+1)c_{m+1}x^m - \sum_{m=2}^{+\infty} m(m-1)c_mx^m \\ - (1+s+t) \sum_{m=1}^{+\infty} mc_mx^m - st \sum_{m=1}^{+\infty} c_mx^m = \sum_{m=0}^{+\infty} a_mx^m. \end{aligned}$$

Hence

$$rc_1 + \sum_{m=1}^{+\infty} [(m+1)(m+r)c_{m+1} - (m+s)(m+t)c_m]x^m = \sum_{m=0}^{+\infty} a_mx^m.$$

Therefore, we get  $c_1 = \frac{1}{r}a_0$  and

$$c_{m+1} = \frac{1}{(m+1)(m+r)}a_m + \frac{(m+s)(m+t)}{(m+1)(m+r)}c_m, \quad (m = 1, 2, \dots).$$

By some manipulations, we obtain

$$\begin{aligned} c_m &= \frac{a_{m-1}}{m(m-1+r)} \\ &+ \frac{1}{m!} \sum_{i=1}^{m-1} a_{m-i-1} \prod_{j=1}^{i+1} \frac{1}{m-j+r} \prod_{j=1}^i (m+s-j)(m+t-j) \end{aligned} \tag{2.5}$$

for any  $m \in \{2, 3, \dots\}$ . The condition (2.2) implies that the radius of convergence of  $y_p(x) = \sum_{m=1}^{+\infty} c_mx^m$  is  $R_1$ . By using the ratio test, we can easily show that the radius of convergence of  $y_c$  is 1. Thus  $y$  is certainly defined on  $(-\rho, \rho)$ .  $\square$

**Corollary 2.2.** *Assume that the assumptions of Theorem 2.1 hold. Then there exists  $C > 0$  such that*

$$\begin{aligned} \sum_{m=1}^{+\infty} c_mx^m &\leq \sum_{m=1}^{+\infty} \frac{a_{m-1}}{m(m-1+r)}x^m \\ &+ \sum_{i=1}^{+\infty} \sum_{m=2}^{+\infty} \frac{Ca_{m-2}}{(m+i-1)^2} \prod_{j=0}^i \left(1 - \frac{-st}{(m+i-j-1)(m+i-j+s+t-1)}\right) x^{m+i-1}. \end{aligned}$$

*Proof.* Since there exists a constant  $C > 0$  with

$$\frac{1}{m!} \prod_{j=1}^{i+1} \frac{1}{m-j+r} \leq \frac{C}{m^2} \prod_{j=0}^i \frac{1}{(m-j)(m-j+s+t)}$$

for any  $m = 2, 3, \dots$  and for any  $i = 1, 2, \dots$ , it follows from (2.5) that

$$\begin{aligned} \sum_{m=1}^{+\infty} c_m x^m &= c_1 x + \sum_{m=2}^{+\infty} c_m x^m = \frac{1}{r} a_0 x + \sum_{m=1}^{+\infty} \frac{a_{m-1}}{m(m-1+r)} x^m \\ &+ \sum_{m=2}^{+\infty} \frac{1}{m!} \sum_{i=1}^{m-1} a_{m-i-1} \prod_{j=1}^{i+1} \frac{1}{m-j+r} \prod_{j=0}^i (m+s-j)(m+t-j) x^m \\ &\leq \sum_{m=1}^{+\infty} \frac{a_{m-1}}{m(m-1+r)} x^m + \sum_{m=2}^{+\infty} \sum_{i=1}^{m-1} \frac{C a_{m-i-1}}{m^2} \prod_{j=0}^i \frac{(m+s-j)(m+t-j)}{(m-j)(m-j+s+t)} x^m \\ &= \sum_{m=1}^{+\infty} \frac{a_{m-1}}{m(m-1+r)} x^m + \sum_{m=2}^{+\infty} \sum_{i=1}^{m-1} \frac{C a_{m-i-1}}{m^2} \prod_{j=0}^i \left(1 - \frac{-st}{(m-j)(m-j+s+t)}\right) x^m \\ &= \sum_{m=1}^{+\infty} \frac{a_{m-1}}{m(m-1+r)} x^m + \sum_{i=1}^{+\infty} \sum_{m=i+1}^{+\infty} A_{mi} x^m \\ &= \sum_{m=1}^{+\infty} \frac{a_{m-1}}{m(m-1+r)} x^m + \sum_{i=1}^{+\infty} \sum_{m=2}^{+\infty} A_{m+i-1,i} x^{m+i-1}, \end{aligned}$$

where we define

$$A_{mi} := \frac{C a_{m-i-1}}{m^2} \prod_{j=0}^i \left(1 - \frac{-st}{(m-j)(m-j+s+t)}\right)$$

for all  $i = 1, 2, \dots$  and  $m = 2, 3, \dots$ . □

### 3. APPROXIMATION PROPERTY OF HYPERGEOMETRIC FUNCTION

In this section, we investigate an approximation property of hypergeometric functions. More precisely, we will prove that if an analytic function satisfies the condition (2.2), then it can be approximated by a hypergeometric function. Suppose that  $y$  is a given function expressed as a power series of the form

$$y(x) = \sum_{m=0}^{\infty} b_m x^m, \tag{3.1}$$

whose radius of convergence is  $R_0 > 0$ . Then we obtain

$$\begin{aligned} x(1-x)y'' + [r - (1+s+t)x]y' - sty &= \sum_{m=0}^{\infty} [(m+1)(m+r)b_{m+1} - (m+s)(m+t)b_m] x^m \\ &= \sum_{m=0}^{\infty} a_m x^m, \end{aligned} \tag{3.2}$$

where we define

$$a_m := (m+1)(m+r)b_{m+1} - (m+s)(m+t)b_m \tag{3.3}$$

for all  $m \in \{0, 1, 2, 3, \dots\}$ .

**Lemma 3.1.** *If the  $a_m$ 's, the  $b_m$ 's and the  $c_m$ 's are as defined in (3.3), (3.1) and (2.4), then*

$$c_m = b_m - \frac{b_0}{m!} \prod_{j=1}^m \frac{1}{m-j+r} \prod_{j=1}^{m-1} (m+s-j)(m+t-j) \tag{3.4}$$

for all  $m \in \{0, 1, 2, 3, \dots\}$ .

*Proof.* The proof is clear by induction on  $m$ . For  $m = 1$  and by (3.3) we have

$$c_1 = \frac{a_0}{r} = \frac{1}{r}(rb_1 - stb_0) = b_1 - \frac{st}{r}b_0. \tag{3.5}$$

Assume now that formula (3.3) is true for some  $m$ . It follows from (2.4), (3.3) and (3.4) that

$$\begin{aligned} c_{m+1} &= \frac{a_m}{(m+1)(m+r)} + \frac{(m+s)(m+t)}{(m+1)(m+r)}c_m \\ &= \frac{1}{(m+1)(m+r)} \left( (m+1)(m+r)b_{m+1} - (m+s)(m+t)b_m \right) \\ &\quad + \frac{(m+s)(m+t)}{(m+1)(m+r)} \left( b_m - \frac{b_0}{m!} \prod_{j=1}^m \frac{1}{m-j+r} \prod_{j=1}^{m-1} (m+s-j)(m+t-j) \right) \\ &= b_{m+1} - \frac{b_0}{(m+1)!} \prod_{j=1}^{m+1} \frac{1}{m+1-j+r} \prod_{j=1}^m (m+1+s-j)(m+1+t-j), \end{aligned}$$

as desired. □

**Theorem 3.2.** *Let  $R$  and  $R_0$  be positive constants with  $R < R_0$ . Assume that  $y : (-R, R) \rightarrow \mathbb{C}$  is a function of the form (3.1) whose radius of convergence is  $R_1$ . Also,  $b_m$ 's and  $c_m$ 's are given by (3.3) and (3.4), respectively. If  $R < \min\{1, R_0, R_1\}$ , then there exist a hypergeometric function  $y_h : (-R, R) \rightarrow \mathbb{C}$  and a constant  $d > 0$  such that  $|y(x) - y_h(x)| \leq d \frac{x}{1-x}$  for all  $x \in (-R, R)$ .*

*Proof.* We assume that  $y$  can be represented by a power series (3.1) whose radius of convergence is  $R < R_0$ . So

$$x(1-x) \sum_{m=2}^{+\infty} m(m-1)b_m x^{m-2} + [r - (1+s+t)x] \sum_{m=1}^{+\infty} mb_m x^{m-1} - st \sum_{m=0}^{+\infty} mb_m x^m$$

is also a power series whose radius of convergence is  $R_0$ , more precisely, in view of (3.2) and (3.3), we have

$$\begin{aligned} x(1-x) \sum_{m=0}^{+\infty} m(m-1)b_m x^{m-2} + [r - (1+s+t)x] \sum_{m=0}^{+\infty} mb_m x^{m-1} \\ - st \sum_{m=0}^{+\infty} mb_m x^m = \sum_{m=0}^{+\infty} a_m x^m \end{aligned}$$

for all  $x \in (-R, R)$ . Since the power series  $\sum_{m=0}^{+\infty} a_m x^m$  is absolutely convergent on its interval of convergence, which includes the interval  $[-R, R]$  and the power series  $\sum_{m=0}^{+\infty} |a_m x^m|$  is continuous on  $[-R, R]$ . So there exists a constant  $d_1 > 0$  with

$$\sum_{m=0}^n |a_m x^m| \leq d_1$$

for all integers  $n \geq 0$  and for any  $x \in (-R, R)$ .

On the other hand, since

$$\sum_{k=1}^{+\infty} \left| \frac{-st}{(m-k-1)(m-k-1+t+s)} \right| \leq \frac{st\pi^2}{6} =: d_2, \quad (m = 2, 3, \dots),$$

we have

$$\left| \prod_{k=1}^{+\infty} \left( 1 - \frac{-st}{(m-k-1)(m-k-1+t+s)} \right) \right| \leq d_2, \quad (m = 2, 3, \dots)$$

(see [16, Theorem 6.6.2]). Hence, substituting  $i - j$  for  $k$  in the above infinite product, there exists a constant  $d_3$  with

$$\left| \prod_{j=0}^i \left( 1 - \frac{-st}{(m-i-j-1)(m-i-j-1+t+s)} \right) \right| \leq d_3$$

for all  $i = 1, 2, \dots$  and  $m = 2, 3, \dots$ . Therefore, it follows Lemma 2.2 that

$$\left| \sum_{m=0}^{\infty} c_m x^m \right| \leq d_1 d_3 \frac{x}{1-x} \tag{3.6}$$

for all  $x \in (-R_0, R_0)$ . This completes the proof of our theorem. □

**Corollary 3.3.** *Assume that  $R$  and  $R_0$  are positive constants with  $R < R_0$ . Let  $y : (R, R_0) \rightarrow \mathbb{C}$  be a function which can be represented by a power series of the form (3.1) whose radius of convergence is  $R_0$ . Moreover, assume that there exists a positive number  $R_1$  satisfying the condition (2.2) with  $b_m$ 's and  $c_m$ 's given in (3.1) and Lemma 3.1. If  $R < \min\{1, R_0, R_1\}$  then there exists a hypergeometric function  $y_h : (-R, R) \rightarrow \mathbb{C}$  such that  $|y(x) - y_h(x)| = O(x)$  as  $x \rightarrow 0$ .*

**Example 3.4.** *Now, we will introduce an example concerning the hypergeometric function for differential equation (2.1) with  $st = \frac{1}{16}$ . Given a constant  $R$  with  $0 < R < 1$  and assume that a function  $y : (-R, R) \rightarrow \mathbb{C}$  can be expressed as a power series of the form (3.1), where*

$$b_m = \begin{cases} 0, & m=0 \\ \frac{1}{4^m}, & m \geq 1. \end{cases}$$

*It is easy to see that the radius of convergence of the above power series is  $R_1 = 4$ . Since  $b_0 = 0$  it follows from Lemma 3.1 that  $c_m = b_m$  for each  $m \in \{0, 1, 2, 3, \dots\}$ . Moreover, there exists a positive constant  $R_1$  such that the condition (2.2) is satisfied*

$$R_1 = \lim_{k \rightarrow +\infty} \left| \frac{c_k}{c_{k+1}} \right| = \lim_{k \rightarrow +\infty} \left| \frac{b_k}{b_{k+1}} \right| = 4.$$

Now we assume  $r = s = t = \frac{1}{4}$ . Then we get

$$\begin{aligned} \sum_{m=0}^{+\infty} |a_m x^m| &\leq \frac{1}{16} + \frac{15}{64}|x| + \sum_{m=2}^{+\infty} \frac{4(m + \frac{1}{4})^2 - (m + 1)(m + \frac{1}{4})}{4^{m+2}} |x|^m \\ &\leq \frac{1}{16} + \frac{15}{64} + \sum_{m=2}^{+\infty} \frac{3m(m + \frac{1}{4})}{4^{m+2}} \\ &\leq \frac{1}{16} + \frac{15}{64} + \sum_{m=2}^{+\infty} \frac{1}{2^{m+2}} \leq \frac{1}{16} + \frac{15}{64} + \frac{1}{8} = \frac{27}{64} \end{aligned}$$

for all  $x \in (-R, R)$ . Since  $R < \min\{1, R_0, R_1\} = 1$ , we can conclude from (3.6) that there exists a solution function  $y_h : (-R, R) \rightarrow \mathbb{C}$  of the Gauss differential equation (2.1) with  $r = s = t = \frac{1}{4}$  satisfying  $|y(x) - y_h(x)| \leq \frac{27}{64} \frac{x}{1-x}$  for all  $x \in (-R, R)$ .

#### ACKNOWLEDGMENTS

This work was supported by Basic Science Research Program through the National Research Foundation of Korea funded by the Ministry of Education, Science and Technology (NRF-2017R1D1A1B04032937).

#### REFERENCES

- [1] M. Adam and S. Czerwik, *On the stability of the quadratic functional equation in topological spaces*, Banach J. Math. Anal. **1** (2007), 245–251.
- [2] Z. Ali, P. Kumam, K. Shah and A. Zada, *Investigation of Ulam stability results of a coupled system of nonlinear implicit fractional differential equations*, Math. **7** (2019), Art. No. 341.
- [3] C. Alsina and R. Ger, *On some inequalities and stability results related to the exponential function*, J. Inequal. Appl. **2** (1998), 373–380.
- [4] T. Aoki, *On the stability of linear transformation in Banach spaces*, J. Math. Soc. Japan **2** (1950), 64–66.
- [5] E. Bicer and C. Tunc, *On the Hyers-Ulam stability of certain partial differential equations of second order*, Nonlinear Dyn. Syst. Theory **17** (2017), 150–157.
- [6] M. Eshaghi Gordji, C. Park and M. B. Savadkouhi, *The stability of a quartic type functional equation with the fixed point alterbative*, Fixed Point Theory **11** (2010), 265–272.
- [7] D. H. Hyers, *On the stability of the linear functional equation*, Proc. Nat. Acad. Sci. USA **27** (1941), 222–224.
- [8] D. H. Hyers and Th. M. Rassias, *Approximate homomorphisms*, Aequationes Math. **44** (1992), 125–153.
- [9] S. Jung, *Hyers-Ulam-Rassias Stability of Functional Equations in Mathematical Analysis*, Hadronic Press, Palm Harbor, Fla, USA, 2001.
- [10] S. Jung, *Legendre’s differential equation and its Hyers-Ulam stability*, Abst. Appl. Anal. **2007** (2007), Article ID 56419.
- [11] B. Kim and S. Jung, *Bessel’s differential equation and its Hyers-Ulam stability*, J. Inequal. Appl. **2007** (2007), Article ID 21640.
- [12] K. Liu, M. Fečkan, D. O’Regan and J. Wang, *Hyers-Ulam stability and existence of solutions for differential equations with Caputo-Fabrizio fractional derivative*, Math. **7** (2019), Art. No. 333.
- [13] S. Ostadbashi and M. Soleimaninia, *On Pexider difference for a Pexider cubic functional equation*, Math. Reports **18(68)** (2016), 151–162.
- [14] Th. M. Rassias, *On the stability of the linear mapping in Banach spaces*, Proc. Am. Math. Soc. **72** (1978), 297–300.
- [15] J. M. Rassias, *On the Ulam stability of mixed type mappings on restricted domains*, J. Math. Anal. Appl. **276** (2002), 747–762.
- [16] M. Reed, *Fundamental Ideas of Analysis*, John Wiley and Sons, New York, 1998.

- [17] S. Shaghali, M. Bavand Savadkouhi and M. Eshaghi Gordji, *Nearly ternary cubic homomorphism in ternary Fréchet algebras*, J. Comput. Anal. Appl. **13** (2011), 1106–1114.
- [18] S. Shaghali, M. Eshaghi Gordji and M. Bavand Savadkouhi, *Stability of ternary quadratic derivation on ternary Banach algebras*, J. Comput. Anal. Appl. **13** (2011), 1097–1105.
- [19] D. Shin, C. Park and Sh. Farhadabadi, *On the superstability of ternary Jordan  $C^*$ -homomorphisms*, J. Comput. Anal. Appl. **16** (2014), 964–973.
- [20] D. Shin, C. Park and Sh. Farhadabadi, *Stability and superstability of  $J^*$ -homomorphisms and  $J^*$ -derivations for a generalized Cauchy-Jensen equation*, J. Comput. Anal. Appl. **17** (2014), 125–134.
- [21] C. Tuğ, *A study of the stability and boundness of the solutions of nonlinear differential equations of the fifth order*, Indian J. Pure Appl. Math. **33** (2002), 519–529.
- [22] S. M. Ulam, *Problems in Modern Mathematics*, John Wiley and Sons, New York, NY, USA, Science edition, 1964.
- [23] E. Zadrzynska and W. M. Zajaczkowski, *On stability of solutions to equations describing incompressible heat-conducting motions under Navier's boundary conditions*, Acta Appl. Math. **152** (2017), 147–170.

S. OSTADBASHI, M. SOLEIMANINIA, R. JAHANARA  
DEPARTMENT OF MATHEMATICS, URMIA UNIVERSITY, URMIA, IRAN  
E-mail address: s.ostadbashi@urmia.ac.ir; m.soleimaninia@yahoo.com; r.jahanara89@gmail.com

CHOONKIL PARK  
RESEARCH INSTITUTE FOR NATURAL SCIENCES, HANYANG UNIVERSITY, SEOUL 04763, KOREA  
E-mail address: baak@hanyang.ac.kr